1A=Ly A%t

FRHBERBEMDESE

2018411 B %
[R# & SR B Bl (R Fr)
A_ FX /— s
5 [a] B {iff IRITE M P %
2018411 B %) 20184E108 %) RITRMEDZR
0.43 A/m -0.88 M/m 1.31 M/m
(%)
[REHEEDZEE [MH/t]
20184E6 H ~201848 A M F14|2018458 ~2018FETADFEY| __ -
( 1A ) ( 108REy ) | RICOER
I R FHEE (a) 57,750 56,160 1,590
LNG 57,170 55,700 1,470
LPG 65,180 61,580 3,600
EAE S [ TR (b) 57,250
Z# (ab) 500 1,000 1,500

« LNG{fi#&. LPGfit& (X &BICE Z#fEHE
- SEHREHEAR SR E T REREMEEEDEEE (a-b) (X100 R BTIYIET

FEHEREEMOEESE
<FEREEDOEBCIOBMMERABREDNDEE >
BT RAHEROREE

LNGF ¥ [RFHEE (B S #ETHE) 57,170 x 0.9479
+ LPGEHRFHIAE (B Z#fatiE) 65,180 x 0.0546
57,750.27|M /¢
| (IOMXRFEERA)
[ 57.750]A
BRI ESHEEDEE
[ s1750]m/e - [ 7250]m =[__ 500]me
| (100MXFHLIVIET)
[ so0jAn
BEMHESABRE(MH-YHARE) DETE
--Rive S5 o HHE ] = 500/ /100 x 0.08748 31
= 043|M/m %2

X1 EHE100M I DEE A £%0.08748(=0.081 x 1.08)HZARELET,
X2 BN TSAOEIT/NEEIRUTEYIVE T, /4T ADRKIS/NEEM LU TZYY EIFET




